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> AnovaModel.l <- aov (HOEE ~ M, data=Dataset)

> sumerary [AnovaModel. 1)

Df Sum 3g Mean 3g F wvalue Pri=F)
&R 5 10,9457 2.15891 4.5294 0.001175 +*
Residuals 45 21.7551 0.4533
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> TukeyH3D(aow (B E "™ .data=lataset))
Tokey multiple comparisonz of meansz

45% family-wise confidence level = N
SREEEHDpl

Fit: aov(formale = BBEE 7 &, data = Dataset)
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« ARVESAVKYUTOIARURERT

BEZEH ESVES REEAR
azi<-aovik~imE+ERFFEREHR EF SRR
,data=Dataset)
summary(azi)

> oSumnary (azi)

Df Suwm 3q Mean 3g F wvalue Fr (>F)
BE 1 67.500 67.500 21.3158  0.00011 ##%
FRtFEXE Z 155.000 77.500 24.4737 1.608e-06 #w#
BEEMVEEE 2z 15,0000 7.500 Z.3684 0.11515
Residuals 24 76.000  3.167
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« TukeyHSD(azi)&k¥}i2%a

> TukeyHSD (azi) $ERFHIEZE
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diff lur upr r adj
1 3.5 1.51260Z291 5.437397 5.44051%=-04
1 5.5 3.51260291 7.4837397 1.111275e-06
2 2.0 0.01260291 3.987397 4.835626e-02
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» TukeyHSD(azi)$&E

> TukeyHSD(azi) §;2E

diff lwr upr p adj
2-1 -3 —-4.341093 -1.653907 0.0001100036
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> oSutmary (azl)

Df Sum Sq Mean 2g F walue Pr(=F)
=E 1 67.500 67.500 21.3158  0.00011 #%%
BTyl iERE 2 155,000 <77.500 24.4737 1.608=-06 %%%
BEETHIEXE 2z 15.000 7.500 Z.3684 0.11515
Residuals Z4 76.000  3.167
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summary(azi)
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DEf Swwn 3q Mean S F walue Fr(>F)
BE 1 §7.500 67.500 21.3158  0.00011 ##%«
ErEHEER 2 155.000 77.500 24.4737 1.608e-06 *+%
SEErFEE : 415.0000 7.500 2.3684 0.11515
Residuals z4 76.000  3.167

XEMERADOMRZEZRTHS

o

Plot of Means 1 ’*’E 2 %R
5 BEHTHE

| O/A Datasetpa EEJ Iib‘\riixj

73

[22]

/ EVSHTED
KEDHEAHE
HhtEDEEET
HHRMENELD
—THEITESIELSHE
HEOLENTEEE
HEXUBLLEIFT
v €323
sm3m R ) L _N\IN—H—DOHT=

" REEANGZITNIEIS E=hSpEsnDiEho

L ~
1 j’E JBE Dataset$ g TH %T:Tﬁgb‘ig L=
2 EX 1=

70 71 7z

mean of Dataset$bk

63

5]

-
S -
-

-
-




FEDH

o TRORK(=EREAENZRTEDR
EZETIEHEDONEHITESHL
-H=54 o
— INDBERENERDOEHZTET M

s FIIREREDFIEEARDLERZTRLA
LTHHELHE




RV ¥ —Z RVt
(25)

HE B BB #iR

TRV F R

1

tHR TE

« 2BDT—AIZENT. EEOBFYIZONTD

FIEFEF1T5= DIRTE

DIDDET IL—)IZHBLT

BEH=(H5E) THINES M

> TERDUETE

Q@2OD#E (I NV—T)EOBFHIZENHLH

ES5Hh

SUERDHETE

[ iS DAL MR TE |
—>IANDWERENLIEEDOT—2E]W5

[t i D & HHETE
—1IANDHFEBEENL2EFBDT—2EWS

DR

C BEELEDT—RIZENWTEREBEORBEYIZDOLY
TOHIBRZEITOT-O DIRTE
@3 DOULDEGT IL—)BOBEHYIZENDH
BEMEIH
OB =3 AL LDTFEHEDEDKRTE
[ 45 B&E FE 0 B 4T )
-1 ANDHHBEENOIFREOT—2Z2]5
[ ERE RN DB
—1AND#EEENLIFEEELU LT —2%FE5

SHOEEEIR

o BlIRSHT
— B [AlfR o
~-HAETRS T —2DER
—-EIFETILOEA
—RTO R HTFIREER




SRERE

c HEIRZDZEEDHEREKREDT 4

s RELEROERITIEDLIITGEOTNS
h?

F—4

Bf *E
170 57
166 53
157 47
164 52
157 47
160 53
163 48
160 48
153 43
165 57
162 50
150 44
165 53
151 41
165 60

8t JBHEF R FIEREEHP

HAREIZLAIRE

e 1557 1-T8MmE]

74 WA E]

= 2B iR v ZH O D0ER)

g5 BE
& &S

Options FOvhERNEA-R
AEEDED JovhdERs <auto>
x Ml EEESTFRT SRR 10
y MEEhEE RS R THRT
= BEFTEREHE
v Bl TR
ElnrautE
B 2B
iR

WAL DRES i

DT DARE 0

o S i S e B B

LT cy

= BOMSAIL ¥ BOSL
<auto? <autny

S ESDFR
<ETOHEIMR-2>

JERIDF O -

o ] [Feer g

a5
170 180 190

160

150

HARIZLAIRE

o

ST BREELLIC

o

o

o ao

o

a0

o a oo
o

o ot
RIS 10) TAVN)

[==] ;b 11

J[EXY %)
T T T T T
50 B0 70 80 a0

FE




BT E  BEAGRBICKHIER

o et =1-TEX T HEBA1TH ]
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Call:
lmiformula = B ~ ($E, data = Dataset)

Residuals:
Min 10 Median 3 Max
-1le.13616 -3.20485 0.05764 3.321687 5.71388

Coefficient g

HEEEDRIG

Coefficients:

Eztimatg 3td. Error t© wvalue Pri>|t])
[Intercept) [119.37351 2.67010 44,71 <Ze-1p6 ¥*%
iF&E 0.565875 0,.04553 19.05 <Ze-1g ¥#%

119.37351 0.86875

Estimate gEtd. Error t walues| Pri>|t]]
[Intercept) | 119.37351 Z.67010 44,71 <Ze-1g **%
(k3 0.565875 0.04553 19.08| <Ze-16 ##*
Signif. codes: 0O '#FF' Q0,001 '** Q0,01 '+t o0,05 'Lt 0,100 01 {$E
Residual standard erzor. g _fS62 on 95 degrees of freedom
Multiple R-=scguared: Adjusted R-sguared: 0.7557 , \
F-statistic: 364 on I and 98 DF, p-value: < 2.2e—16 EPEER SRBAZE %K
E7 )L O FTi
A
I
o
8 o o
o . Coefficients:
oo - .
@ 7 Estimate Std. Error t walues| Pr(=|t]]
= o : [Intercept)] 119.3537351 Z.67010 44,71 “Ze-1lg #%%
o o oo
- ™ k= 0.88875 0.04553 19.058 <Ze-1n *%%
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Multiple E-adquared: 0.78729, Adjusted E-sguared: 0.7857
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RIZEKA 5 HT

o T#EtE I-TETILADES |I—-T#EFME

RIZKA 5 HT

Im({formula = §F7Fiff ~ WS + HHE + HEgEE, daca = Dataset)

Residuals:

'JEJ Min 10 Median 30 Hax
e ,% AT E] -2.9064 -0.7117 -0.2213 0.8503 2.2762
B0 e :DEffiCientLE timate Std| E t 1 Pri>|t])
- : T T— s stimate rror t wvalus |Pr
S;;Kﬂ 2 ;E:EEMDL&J&?R) {Intercept) 7.9627 1.0938  7.280 [1.84e-08 *ww
SEE R e #E8 -0.6525 0.1640 -3.272 |0.00108 *%
Al Al WS E -0.4711 0.1337 -3.523 |0.00282 %
iﬁtiﬁwiﬁ B HaEE 0.7108 h.z063  3.446 |0.00332 %
=1 =
SETOHRET —A Fignif. codes: 0O '***' 0,001 '** 0,01 '<*' 0.058 '.' 0.1 ' ' 1
[ OK ] [ oAzl ] [ L8 ] Rezidual standard elpeedss 73 on 16 degrees of freedom
Multiple R-sScuared: Adjusted B-sdquared: 0.6229
F-ztatistic: 11.46 on 3 and 16 DF, p—valus: 0.0002922
E ) FEFR (D1
HE TE (B & D X fits ZIRDHE A
. Error t walue Pri=|t]) -0.4711
[ Intercept) 1.0935 7.2580 1.54e-06 ##**
.28 0.1540 -3.979 0.00108 =** x ( EE
HEE 0.1337 -3.523 0.00282 +**
0.20635 3.446 0.00332 *+%

BEE

jignif. codes: O '##F' 0.001 '**' 0,01 '*' Q.05 '.' 0.1 ' °
-0.4711
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Estimate 3td. Error t© walue |Pri>|t])

{Intercept) 7.9627 1.0938  7.280[1.84e-06 **+

#38 -0.6525 0.1640 -3.979 | 0.00108 #%

HEE -0.4711 0.1337 -3.523 |0.00282

HEEE 0.7108 0.2063 3.44¢ |0.0033z2

Fignif. codes: 0O '*%%' 0,001 '*F 0,01 's'o0.05 'L 0.1 '
= Iy
IR ER

R#=0TH%
Fezidual standard error: 1.373 on 16 degrees of freedom
Multiple R-sqguared:|0.e525,] Adjusted B-=sguared: 0.6229

F-ztatistic: 11.46 on 3 and 1l DF, |p—value: D.0002922|
FIRTE (53 885 #T)
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Loadings:

Factorl Factor:
el 0.523 0.503
3 0.456 0.488
{S¥E 0.812 -0.237
HEENE 0.437 0.686
FEZI 0.513 -0.381
EAIR kS 0.672 -0.189
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FRBDENKELD
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HEER
HFNT—22AEDEHDOM%EHAL TS,

Factorl Factar:
33 loadings Z2.206 1.159

Proportion WVar 0.368 0.z00 :§5$

Cumulative Var 0.368 0.567 i*ﬁ!ﬁg_g(ﬂbﬁ)

Test of the hypothesis that 2 factors are sufficient.
The chi square statistic is 3.2Z2Z on 4 degrees of freedom.

‘ The p-wvalus i=s 0.521 ‘
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